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2016/17-ci tədris ili Yaz semestri Final imtahanı sualları
1. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-in)
	Price in selling (VAT-in)

	15000
	20000



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
2. According to income statement: 
Revenue: 18600  manat  
Cost of sale: 7440  
Advertisement expenses: 1200  
depreciation cost: 1400 value of asset: 3200 , limit for depreciation: 25 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
3. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-in)
	Price in selling (VAT-plus)

	10000
	15000+2700



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
4. According to income statement: 
Revenue: 12.000 manat 
Cost of sale: 4800  
Advertisement expenses: 1700  
depreciation cost: 1600  , value of asset: 3300 , limit for depreciation: 20 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
5. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-plus)
	Price in selling (VAT-in)

	10000+1800
	15000



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
6. According to income statement: 
Revenue: 16.000 manat 
Cost of sale: 6400   
Advertisement expenses: 1400  
depreciation cost: 1600  , value of asset: 3400 , limit for depreciation: 20 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
7. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-plus)
	Price in selling (VAT-plus)

	10000+1800
	15000+2700



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
8. According to income statement: 
Revenue: 14.000 manat 
Cost of sale: 5600   
Advertisement expenses: 1500  
depreciation cost: 1200 , value of asset: 3600 , limit for depreciation: 25 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
9. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-in)
	Price in selling (VAT-in)

	20000
	30000



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
10. According to income statement: 
Revenue: 17600  manat  
Cost of sale: 7440  
Business trip expenses: 1200  
depreciation cost: 1400 value of asset: 4000 , limit for depreciation: 25 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
11. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-in)
	Price in selling (VAT-plus)

	20000
	30000+5400



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
12. According to income statement: 
Revenue: 11.000 manat 
Cost of sale: 5800  
Business trip expenses: 1700  
depreciation cost: 1600  , value of asset: 5000 , limit for depreciation: 20 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
13. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-plus)
	Price in selling (VAT-in)

	20000 + 3600
	30000



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
14. According to income statement: 
Revenue: 16.000 manat 
Cost of sale: 8400   
Business trip expenses: 2400  
depreciation cost: 1600  , value of asset: 6000 , limit for depreciation: 20 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
15. Company is a taxpayer of VAT and profit tax. 
	Price in buying (VAT-plus)
	Price in selling (VAT-plus)

	20000+3600
	30000+5400



Calculate total tax obligation (profit tax obligation + VAT obligation) for this transaction.
16. According to income statement: 
Revenue: 15.000 manat 
Cost of sale: 8600   
Business trip expenses: 1500  
depreciation cost: 1200 , value of asset: 2000 , limit for depreciation: 25 %
Calculate: profit tax liability – (By Tax accounting and Financial accounting)
17. Residents income (for a month) : 
Rent: 1100
Salary: 1850
 He is also national hero of AR. Calculate PIT obligation.
18. In  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	36000
	49000
	38000

	II
	37000
	57000
	46000

	III
	39000
	46000
	51000

	IV
	42000
	58000
	62000



a) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
b) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
19. Residents income (for a month) : 
Rent: 1300
Salary: 2850
 He is also national hero of AR. Calculate PIT obligation.

20. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	25000
	42000
	28000

	II
	35000
	67000
	42000

	III
	38000
	56000
	58000

	IV
	32000
	68000
	32000



a) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
b) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
21. Residents income (for a month): 
Rent: 1700
Salary: 3850
He is also national hero of AR. Calculate PIT obligation.
22. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	31000
	52000
	38000

	II
	38000
	57000
	51000

	III
	25000
	51000
	52000

	IV
	26000
	63000
	47000



a) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
b) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
23. Residents income (for a month): 
Rent: 1500
Salary: 2700
He is also national hero of AR. Calculate PIT obligation.
24. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	37000
	52000
	36000

	II
	38000
	57000
	51000

	III
	25000
	33000
	44000

	IV
	26000
	75000
	47000



a) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
b) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
25. Residents income (for a month): 
Rent: 200
Salary: 500
He is also national hero of AR. Calculate PIT obligation.
26. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	42000
	52000
	38000

	II
	38000
	57000
	51000

	III
	25000
	48000
	37000

	IV
	33000
	49000
	29000



a) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
b) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
27. Residents income (for a month) : 
İnterest (by manat –from AR residence Bank): 2100
Salary: 1650
 He is also national hero of AR. Calculate PIT obligation.
28. In  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	36000
	49000
	38000

	II
	37000
	57000
	46000

	III
	39000
	46000
	51000

	IV
	42000
	58000
	62000



c) Calculate simplified tax obligation difference between 3rd quarter of 2014 and 1st quarter of 2015
d) Calculate simplified tax obligation difference between 3rd quarter of 2015 and 1st quarter of 2016
29. Residents income (for a month) : 
İnterest (by manat –from AR residence Bank): 3300
Salary: 3850
 He is also national hero of AR. Calculate PIT obligation.

30. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	25000
	42000
	28000

	II
	35000
	67000
	42000

	III
	38000
	56000
	58000

	IV
	32000
	68000
	32000



c) Calculate simplified tax obligation difference between 3rd quarter of 2014 and 1st quarter of 2015
d) Calculate simplified tax obligation difference between 3rd quarter of 2015 and 1st quarter of 2016
31. Residents income (for a month): 
İnterest (by manat –from AR residence Bank): 2700
Salary: 4800
He is also national hero of AR. Calculate PIT obligation.
32. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	31000
	52000
	38000

	II
	38000
	57000
	51000

	III
	25000
	51000
	52000

	IV
	26000
	63000
	47000



c) Calculate simplified tax obligation difference between 3rd quarter of 2014 and 1st quarter of 2015
d) Calculate simplified tax obligation difference between 3rd quarter of 2015 and 1st quarter of 2016
33. Residents income (for a month): 
İnterest (by manat –from AR residence Bank): 500
Salary: 1700
He is also national hero of AR. Calculate PIT obligation.
34. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	37000
	52000
	36000

	II
	38000
	57000
	51000

	III
	25000
	33000
	44000

	IV
	26000
	75000
	47000



c) Calculate simplified tax obligation difference between 3rd quarter of 2014 and 1st quarter of 2015
d) Calculate simplified tax obligation difference between 3rd quarter of 2015 and 1st quarter of 2016
35. Residents income (for a month): 
İnterest (by manat –from AR residence Bank): 1200
Salary: 1500
He is also national hero of AR. Calculate PIT obligation.
36. İn  the table is given information about income of legal entity (last 3 years ). This company in 2014 was taxpayer of simplified tax
	Quarters/ Years
	2014
	2015
	2016

	I
	42000
	52000
	38000

	II
	38000
	57000
	51000

	III
	25000
	48000
	37000

	IV
	33000
	49000
	29000



c) Calculate simplified tax obligation difference between 1st quarter of 2014 and 3rd quarter of 2015
d) Calculate simplified tax obligation difference between 1st quarter of 2015 and 3rd quarter of 2016
37.  In  the table is given information about property of copmany, which is tax payer of  simp
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	300.000
	400.000


lified tax. Please calculate and pay property tax liability of this company.


38. In  the table is given information about property of copmany, which is tax payer of  profit tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	300.000
	400.000




39. In  the table is given information about property of copmany, which is tax payer of  simplified tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	450.000
	550.000




40. In  the table is given information about property of copmany, which is tax payer of  profit tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	450.000
	550.000




41. In  the table is given information about property of copmany, which is tax payer of  simplified tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	600.000
	700.000




42. In  the table is given information about property of copmany, which is tax payer of  profit tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	600.000
	700.000




43. In  the table is given information about property of copmany, which is tax payer of  simplified tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	800.000
	700.000




44. In  the table is given information about property of copmany, which is tax payer of  profit tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	800.000
	700.000




45. In  the table is given information about property of copmany, which is tax payer of  simplified tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	525.000
	725.000




46. In  the table is given information about property of copmany, which is tax payer of  profit tax. Please calculate and pay property tax liability of this company.
	
	Begining balance sheet
	Ending balance sheet

	Value of property
	525.000
	725.000




47. [bookmark: _GoBack]Key elements of tax institution
48. Residents and non-residents – according to AR Tax Code
49. Personal Income Tax  (PIT) exemptions
50.  Rules  and financial sanctions for PIT payment and reporting
51. Subjects of profit tax
52. Objects of taxation for residents and non-residents
53. Profit tax exemptions
54. Application of profit tax according to income types
55. Recognition of income – cash method (by practical case)
56. Recognition of income accrual method (by practical case)
57. Recognition of expenses – cash method (by practical case)
58. Recognition of expenses – accrual method(by practical case)
59. Non-deductible expenses for profit tax 
60. Deductible expenses – bad debts – explain by practical case
61. Deductible expenses – R&D costs – explain by practical case
62. Deduction of loan interest – explain by practical case
63. Deductible expenses – interest and dividends – explain by practical case
64. Deductible expenses – insurance cost – explain by practical case
65. Deductible expenses – depreciation and repair expenses by practical case
66. Calculating process of VAT obligation
67. Subjects of VAT
68. Objects of VAT
69. VAT rates and exemptions
70. VAT exemptions and 0% VAT
71. Subjects of Simplified tax
72. Reporting and payment rules for Simplified tax
73. Calculation of VAT obligation for trade – explain by practical case
74. Calculation of PIT for wages (salary)  - explain by practical case
75. Calculation of simplified Tax – explain by practical case
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